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Which of the following statements is

not correct about the 18" century India ?

(1) There were patriarchal families in
Kerala.

(2) The condition of widows was
critical in Society.

(3) The dowry practice was in vogue
in Bengal.

(4) Sawai Jay Singh tried to promote
widow remarriage.

Who composed the famous love story
‘Heer Ranjha’ ?

(1) Sachal Sarmast (2) Waris Shah
(3) Abdul Latif  (4) Saami

Which of the following European
power first established trade relation
with India during medieval period ?
(1) The English  (2) The French
(3) The Portuguese (4) The Dutch

Who was loyal to Siraj-ud-Daulah
during the Battle of Plassey ?

(1) Mir Jafar (2) Mohanlal

(3) Mir Miran (4) Ameer Chand

Match the following :

1. Treaty of A. Holkar
Bassin |

2. Treaty of Surji B. Bhonsale
Arjungaon

3. Treaty of C. Scindia
Deogaon

4. Treaty of D. Baji Rao Il
Rajpurghat

Code :

1 2 3 4

() b C B A

2) b B C A

3 A B C D

4 C D A B
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Which statement is incorrect about the

“Tipu Sultan’ ?

(1) He repaired the temple of
Sringeri.

(2) He became a member of

Girondins club.

He took help from the French.

He planted “tree of Freedom” in
Mysore

(3)
“4)

The first state which signed the
Subsidiary Alliance with the East India
Company :
(1) Hyderabad
(3) Mysore

(2) Awadh
(4) Mewar

Choose the option, which has the
correct chronological order of the
annexation of the following states to
the British Empire :

(1) Punjab, Sindh, Burma

(2) Sindh, Burma, Punjab

(3) Sindh, Punjab, Burma

(4) Burma, Punjab, Sindh

The Governor General who enacted an
act to abolish slavery in India :
(1) Dalhousie

(2) Lord Hastings

(3) William Bentinck

(4) Lord Ripon

When did the state of Sambalpur
annex in British empire ?

(1) 1848 (2) 1849

(3) 1850 (4) 1851

Who among the following was not the
member of the Cabinet Mission ?

(1) Stafford Cripps

(2) Winston Churchill

(3) Pethick Lawrence

(4) A.V. Alexander
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How many members of Muslim
League were elected in Constituent

Assembly ?
(1) 71 (2) 64
(3) 76 (4) 73

Which Governor General established
public works department in India ?

(1) Curzon
(2) Dalhousie
(3) Ripon
(4) Lytton

Which of the following was not a part
of Indian constitution at the time of
adoption of the Constitution in 1949 ?

(1) Federal structure

(2) The duties of citizens

(3) The directive principles

(4) The supremacy of Judiciary

In which part of the Constitution of

India ‘Directive  Principles’ are
incorporated ?

(1) PartIII (2) PartlV

(3) PartV (4) Part VI

Arrange the following Khalifas in the
chronological order :

1. Hajrat Umar

2. Hajrat Abu Bakr

3. Hajrat Ali

4. Hajrat Usman

Their correct chronological order is
(1) 1,2,3,4

(2) 4,3,2,1

(3) 2,1,4.3

(4) 2,3,1,4
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Which of the following pairs are not

matched correctly about  the

Constitution of Indig 2

(1) Article 14t0 18 — Right to
Equality

(2) Article 19t022 — Right to
Freedom

(3) Article 23 and 24 — Right against
Exploitation

(4) Article 25t028 — Cultural and
Educational
Rights

Who built the Pyramid of ‘Giza’ ?
(1) Pharach Khufu

(2) Pharaoh Amenhotep

(3) Pharaoh Tuthmosis

(4) Pharaoh Akhenaten

Who is the author of “Works and Day” ?
(1) Aeschylus (2) Hesiod
(3) Aristophanes (4) Thucydides

Match List — I with List — II and select
the correct answer by using the codes:
given below :

List -1 List - 11

1. Mars A. The God of War
2. Venus B. Goddess of Love
3. Bachchus C. The God of Wine
4. Naptune  D. The God of Sea
Code :

1 2 3 4
(). A B C D
2 B A C D
B C D B A
4 D C B A

According to ‘Divyavadana’ whose
preachings influenced Ashoka to adopt
Buddhism ?
(1) Nigroth
(3) Upgupta

(2) Balpandit
(4) Anand
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Match the following and select t

i iven
correct answer from the options g

below :

I. Eighth A. Sombodhi Yatra
Rock edict of Bodhgaya

2. Rummindei B. Tax exemption
pillar
inscription

3. Kandhar  C. Aramic language
inscription

4. Sarnath D. Ashok as the
inscription guardian of

Buddhism
Code :
1 2 3 4

() A B C D

2y D € B &

'3 C B A D

49 B C D A

Which of the following text/texts
mentioned the Greek invasion in
Shunga’s period :

A. Malvikagnimitram

B. Mahabhasya

C. Gargi Samhita

(1) only A and B

(2) only Aand C

(3) onlyBandC

(4) A,BandC

The Satvahana king took the title of
‘Apratihatdakshinapathpati’ ?

(1) Satakarni I

(2) Gautamiputra Satakarni

(3) Vashithiputra Pulumavi

(4) Siva-Shri-Pulumavi
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Match List — I with List — IT and select
the correct answer by using the codes
given below :

List - I List — I1
A. Kalidasa 1. Medicine
B. Varahmihira 2. Play and Poetry
C. Charaka 3. Astrology
D. Bhaskara 4. Mathematics
Code :

A B C D

(1 1 3 4 2
2 2 3 4 1
(3) 2 3 1 4
“4) 1 2 3 4

Which one of the following pairs
(Place-King) is not correctly matched ?

(1) Kanchi — Vishnugopa
(2) Vengi — Kubera
(3) Palakka — Ugrasena

(4) Avamukta — Neelraj

Which of the following statements is
not true about the Guptan Period
officer Vinaysthitistapak ? _
(I) He was the chief officer of
religious affairs.

)
€)

He used to look after the temples.
He looked after the
behaviour of the people.
He was the chief of department of
Justice.

moral

(4)

Which of the following was not
exported from India in Gupta Period ?

(2) Pearls
(4) Gold

(1) Spices
(3) Perfume
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From which place the statue of
Mahishasura Mardini of Gupta period
was found ?

(1) Udayagiri
(3) Bhitargaon

(2) Deogarh
(4) Mathura

Who was the chancellor of University
of Nalanda at the time of Huen-
Tsang’s travel ?
(1) Dharmakirti
(3) Dharmapala

(2) Shilabhadra
(4) Kumardasa

Match List — I with List — II and select
the correct answer by using the codes
given below :

List — I List — II
(Courtiers of (Designation)

Harsh)
1. Avanti A. Prime Minister
2. Singhnad B. Head of Cavalry
3. Kuntal C. Commander

(Senapati)
4. Bhandi D. War Minister
Code :
1 2 3 4

(b A B C D
2 ¢ D B A
3 D C B A
4 C B A D

In whose court scholar Rajshekhar was
a courtier ?

(1) Mahendrapal — I

(2) Bhoj-1I

(3) Mihir Bhoj -1

(4) Bhimraj -1

The famous sculpture of a lady
removing thorns from her foot is
found at

(1) Ranakpur
(3) Khajuraho

(2) Delwara
(4) Ellora
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Match the following :

Book Author
1. Tolkappiyam A. Sitlesattnar
2. Silappadikaram B. Tolkappiyar
3. Manimegalai  C. Ilango Adigal

4. Givaka D. Tirutakkadevar
Cintamani
Code :
1 2 ;) 4
(1) B C A D
2) C B A D
3 B D A C
4 A C D CC

Which one of the following statements
is incorrect about the first Sangam ?

(1) It was organized in Chola state.

(2) Agtsya presided over the
assembly

(3) 549 members attended this
Sangam

(4) 4499 authors were permitted to

publish their composition in it

Who built the Vishnu temple of
‘Angkorvat’ ?

(1) Jai Varman -1

(2) Jai Varman - 11

(3) Rudra Varman

(4) Surya Varman - II

In which of the following p]aces of
central Asia the impact of Indian
culture is found ?

A. Khotan

B. Kuchi

C. Karashahar
D. Kashgar
(1) A&B

3) A,B&C

2) B&C
(4) A,B,C&D
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Which  of the following s

chronologically correct about the

victories of Akbar ?

(1) Merta, Chunar, Ranthambhore,
Kalinjar

(2) Chunar, Merta, Ranthambhore,
Kalinjar

(3) Ranthambhore, Chunar, Kalinjar,
Merta

(4) Kalinjar, Chunar, Ranthambhore,

. Merta

Who wrote ‘Habib-al-Siyar” ?
(1) Mirza Haider Dughlat

(2) Jutuddin Khwaja

(3) Muhammad Khwandomir
(4) Hussain Mirza

Which Sikh Guru was imprisoned by
Jahangir ?

(1) - Guru Arjundev

(2) Guru Hargovinda

(3) Guru Harsahai

(4) Guru Teg Bahadur

Which of the following Chisti saints
did not marry ?

(1) Nizamuddin Auliya

(2) Moinuddin Chisti

(3) Hamiduddin Nagaori

(4) All of these

. To whom Jahangir bestowed the title

of “Nadir-ul-Asra” ?
(1) Abul-Fazl
(3) Akarja

(2) Abdul Samad
(4) Ustad Mansur

The Mughal Emperor, who promoted
the Urdu language first time

(1) Shahjahan

(2) Muhammad Shah

(3) Aurangzeb

(4) Bahadur Shah
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3. Tt & gre gEr § e @
eakceikio |
(1) 13M2 (2) 233
(3) 13M3 (4) 1,2 3M3

fra grer ameemz 3 <faw § quet &
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qr=adq1 € ?

(1) ZeErd

(3) Mg HATe™

(2) wh@EfE
(4) WEIGITE Fom

44.

45.

46.

47.

Which Mughal emperor made the post
of ‘Vakil’ powerless ?

(1) Akbar (2) Jahangir

(3) Shahjahan (4) Humayun

Who among the following Mughal
rulers got constructed ‘Bagh-i-Nilofar’ ?

(1) Shahjahan (2) Jahangir
(3) Akbar (4) Babur

Match List — I and List — II according
to Morland’s description :

List -1 List - II
A. Gujarat 1. Cotton
B. Calicut 2. Chili
C. Hugli 3. Sugar, Rice
D. Msulipattam 4. Calico
Code :

A B C D
(1 4 3 2 1
2 3 2 1 4
3) 1 2 3 3
4 4 2 3 1

Which of the following is correct

about the treaty of ‘Purandara’ (1665) ?

1. Shivaji forced to give his 23 forts
to the Mughals.

2. Shivaji was required to help the
Mughals.

3. Shivaji was exempted from
attending the Mughal court.

(1) Tand2 (2) 2and3

(3) land3 (4) 1,2and3

Which Mughal emperor recognized

the right of ‘Chauth® and
‘Sardeshmukhi’ of the Marathas in
South ?

(1) Rafiuddarajat

(2) Farrukhsiyar

(3) Shah Aalam

(4) Bahadur Shah -1
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2 D B C A
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50.

S1.

Who was the founder of ‘Wahabi
Movement’ in India ?

(1) Titu Mir

(2) Syed Ahmad Barelvi
(3) Chirag Ali

(4) Majnu Shah

Which of the following is not correct
matched ?

(1) Revolt of King of Vijaynagar — 1794

(2) Velu Thampi Revolt — 1805
(3) Revolt of Sawantwadi — 1844
(4) Ramosi Revolt — 1810

Match List — I with List — II and select
the correct answer by using the codes
given below :

List - II

List -1
1. Ashok Mehta A. Eighteen Fifty
Seven
2. RC. B. The Sepoy
Majumdar Mutiny and the
Revolt of 1857
3. 8.B. C. Civil Rebellion
Choudhary in the Indian
Mutiny
4. S.N. Sen D. 1857
Code :
1 2 3 4
() A B C D
2y D B C A
3) D C B A
4 D A B &
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Which of the following statements is
incorrect about the results of the
Revolt of 1857 ?

(1) The rule of East India Company
ended.

The Doctrine of Lapse was
abolished.

The Post of
abolished.
Upper caste Hindus were given
priority in government services.

(2)
3)

‘Peshwa’ was

(4)

Who called the rebellion of 1857 as ‘a
conflict between civilisation and
barbarism ?

(1) T.R. Holmes

(2) .Neill

(3) James Outram

(4) E.R. Rees

Which is referred to as ‘Magna Carta’
of Indian education ?

(1) Hunter Commission

(2) The Indian University Act

(3) Charles Wood’s Despatch

(4) Sadler Commission

Which was the first Hindi newspaper
published in India ?

(1) Sambad Kaumudi

(2) Udant Martand

(3) Bengal Gazette

(4) Som Prakash

Which of the following provision was
incorrect about the ‘Vernacular Press
Act, 1878’ ? ‘

(1) Bond is essential.

(2) Pre-censorship

(3) Appeal not allowed.

(4) Advance security of three lacs
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60.

)
=

Who said that the session of National
Congress is ‘the annual
festival of educated Indians’ ?

(1) Lala Lajpat Rai

(2) Bipin Chandra Pal
(3) Bal Gangadhar Tilak
(4) Annie Besant

national

Which Congress session rejected ‘The
Government of India Act, 1935° ?

(1) Haripur session

(2) Faizpur session

(3) Tripuri session

(4) Lahore session

Which of the following revolutionary
was not hanged ?

(1) Surya Sen

(2) Prafulla Chaki

(3) Madan Lal Dhingra

(4) Khudiram Bose

By which Act provided the right to

issuing ordinance to Governor-General ?

(1) The Indian Councils Act, 1861

(2) The Indian Councils Act, 1892

(3) The Indian Councils Act, 1909

(4) The Government of India Act,
1919

Under the provisions of The
Government of India Act 1919, how
many Muslim members were elected
for the ‘Council of State’ ?

(1) 8

2) 9

(3) 10

4) 11
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Which of the following statements are

correct regarding The Government of

India Act, 1935 ?

1. Provision
Representation

2.  Establishment of Federal Court

of Communal

3. Provincial Autonomy
(1) 3 (2) land2
(3) 1,2and3 (4) 2and3

Which of the following is incorrect
regarding “Decameron” ?

(1) It was composed by Boccaccio.

(2) He was French author.

(3) It contains one hundred stories in
all.

These are humorous stories.

C))

Who founded the ‘Jesuit Order’ ?
(1) Ignatious Loyala

(2) Martin Luther

(3) Calvin

(4) Erasmus

On which date the representatives who
had gathered in Philadelphia approved
the ‘Declaration of Independence’ ?

(1) 4" June, 1776
(2) 24" June, 1776
(3) 4" July, 1776
(4) 24™ July, 1776

Which of the following was not a
member of the “Jacobin Club” ?

(1) Danton

(2) Madam Roland
(3) Rabespierre

(4) Antonie Barnave
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Which of the following statement

about the ‘Napoleon’s Code’ is not true ?

(1) Every son was given equal right
over the property.

(2) The rate of interest was fixed.

(3) Restrictions were imposed upon
trade unions.

(4) The marriage was accepted as a
contract.

Which of the following was not the

result of the Industrial Revolution ?

(1) Rise of New cities

(2) Increase in production

(3) Decrease in population

(4) Emergence of Industrial Corporations
and Joint Stock Companies.

Who invented the steam engine
“Rocket” in 1814 ?

(1) Robert Fulton

(2) James Watt

(3) George Stephenson

(4) Henry Ford

In which treaty or agreement Cavour
assured Napoleon-III to concede the
region of ‘Savoy and Nice’ to France ?
(1) Treaty of Frankfurt

(2) Treaty of Villafranca

(3) Plombiers Agreement

(4) Gasteine Pact

Who was Commander-in-Chief of
Prussia in Franco-Prussian War ?

(1) Bismarck

(2) Vaun Roune

(3) Vaun Moltke

(4) Willhelm Kaiser

06
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Who said “The Treaty of Versaille i

not a peace, it is an armistice
twenty years” ?

(1) Agburger

(2) Marshal Foch

(3) Woodrow Wilson

(4) Llo)’d G_eorge

A secret police was organized t0 ﬁnci
out the people who conspired agains
the Fascist regime in Italy, 1s called

(1) GESTAPO (2) PODESTA
(3) OVRA “4) DOPOLABORO

What was the name of Hitler’s party ?
(1) Social Democratic Party

(2) National Socialist Party -

(3) Nationalist Party

(4) People’s Party

When did Britain declare the war
against Germany in Second World
War ?

(1) 1% September, 1939

(2) 3™ September, 1939

(3) 5™ September, 1939

(4) 9™ September, 1939

Match List — I with List — II and select
the correct answer by using the codes
given below :
List - I
1. Mahandra
Varman style
2. Mamllastyle B. Vaikunda
Perumal temple

List — II |
A. Seven Pagodas

3. Raj Singh C. Bhairav Kunda
style Mandap
4. Aprajita style D. Matangeshvara
temple
Code : :
12 3 4
() A B C D
2 ¢C A B D
3 B A C D
4 C A D B
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78.

79.

Cowy

Ponder over the following Chalukya
rulers :

. Vijayaditya

2. Vinayaditya

3. Pulakeshin —II

4. Kirttivarman — I

Select the correct chronological order :
(1) 3,2,1,4 (2) 1,2,4,3

(3) 4,3,2,1 % 2,1,3,4

Which of the following was the

qualification to be elected in the Chola

Committee (Samiti) ?

A. 35to 70 years of age

B. Knowledge of Vedas and other
Brahmana texts

C. Residing in his own house

Choose the correct code : '

(1) Band C (2) AandC

(3) AandB (4) A,BandC

Which of the following were members
of Ranjeet Singh’s ‘Fauj-i-Khas’ ?
Ventura

Godehu

Devasingh

Ilahi Baksh

. Allard

Choose the correct code :

() A,B,C,D (2) A,C,D,E
(3) A,B,D,E 4) A,B,CE

™

Which of the following pairs are
correct in relation to Shivaji’s Council
of Ministers ?

1. Amatya — Finance Minister

2. Sachiv — General Administration
3.  Sumant - Foreign Minister

Codes :

(1) land?2
(3) 2and3

(2) 1and3
(4) 1,2and3
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Which of the following books are

written by Dr. Bhim Rao Ambedkar

A. The Problem of Rupee : It’s
Origin and it’s Solution

B. Who were the Shudras

C. Ranade, Gandhi and Jinnah

D. Riddles in Hinduism

Select the correct answer using the

code given below :

(1) A,C&D 2) B&D

~(3) A,B&D (4) A,B,C&D

Who was the Prime Minister of the
Provisional Government constituted to
free India on 21% Oct., 1943 in
Singapore ?

(1) S.A. Aiyer

(2) Rash Bihari Bose

(3) Subhash Chandara Bose

(4) Mohan Singh

Who among the following did not
include towards the ‘Pakistan
Proposal’ in 1940 ?

(1) Sikandar Hayat Khan

(2) Muhammad Igbal

(3) Fazlul Haq

(4) Fazal-ul-Haq

When Lenin assumed authority in

1917, he outlined his programme.

Which of the following is not correct

about this programme ?

(1) War with more severe intensity

(2) All private land to be nationalised
without any compensation

(3) Capitalists to be deprived of their
political rights

(4) Banks to be Nationalised
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Under which Article of United
Nation’s Charter, Security Council can
use the army to maintain international
peace and security ?
(1) Article 27
(3) Article 41

(2) Article 29
(4) Article 42

Which of the following is not correct
about mental health ?
(1) Itis not a dynamic concept.
(2) It cannot be achieved without
physical health.
Mental health and social abilities
are not same.
Mental health and efficiency are
. not same thing.

3)
4)

Which activity among the following

gives more freedom to the learner to

interact ?

(1) Use of film

(2) Small group discussions

(3) Lecture by experts

(4) Viewing country-wide classroom
programme on TV

Behavioural learning theories apply
best to

(1) Observable behaviour

(2) Young children

(3) Behaviours that
observed

(4) No option is correct.

cannot be

The adolescent’s Egocentrism includes

(1) Imaginary audience
Centration

(2) Personal fable and Animism

(3) Imaginary audience and Personal
Fable

(4) Centration and Animism

and
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According to cognitive development
theory, at which stage of development,
individual can imagine possibilities
and can test hypothesis ?

(1) Sensory motor stage

(2) Pre-operational stage

(3) Formal operational stage

(4) Concrete operational stage

Which of the following is not 2
component of emotional intelligence ?

(1) Perceiving emotions

(2) Using emotion to facilitate
thoughts
(3) Understanding emotions

4

Sensory experience

Which of the following is not a
concept related to Behaviourism ?

(1) Reinforcement
(2) Modelling
(3) Extinction

(4) Shaping

Which of the following is an example
of primary reinforcer ?

(1) A Gold medal

(2) Money

3) Salary

(4) Food

Which of the following is an example
of Operant Behaviour ?

(D
(2)
3)

Unconditioned Responses

All reflexes

Constriction of the pupil due to
bright light

(4) Standing up and walking about
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95.

96.

97.

Match the following and choose the
correct answer from given option :

i. Conditioned a. Operant
stimulus conditioning

ii. Shaping b. Classical
conditioning

iii. Law of use Trial and error
iv. Modelling  d. Insightful learning
e. Lewin’s field

2

theory
f. Observational
learning
Code :
1 11 i 1v
(1) b c & a
2) b a ¢ e
3) b a c i
4 b e g f
The concept of Reinforcement as

given by Skinner is similar to which of
the following concept of Thorndike ?
(1) Law of Exercise

(2) Law of Effect

(3) Law of Rediness

(4) Law of Analogy

The upper limit of a task that a learner
can perform independently is

(1) Zone of proximal development

(2) Actual development level

(3) Level of potential development
(4) Cognitive Map

“Adults in any society foster children’s
cognitive  development in  an
intentional and systematic manner.”
This reflects the view of

(1) Jean Piaget

(2) E.L. Thorndike

(3) Lev Vygotsky

(4) John Dewey
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The organised group of similar actions
or thoughts that are used repeatedly in
response to the environment is known as
(1) Schema

(2) Equilibrium

(3) Accommodation

(4) Assimilation

Which of the following has developed
cone of experiences related to audio-
visual methods ?

(1) Edger Dale (2) Jean Piaget
(3) Lev Vygotsky (4) John Dewey

Adolescents often say their parents,
“You do not understand me and my
feelings, even no one can understand
my feelings”. This is most suitable
example of

(1) Animism

(2) Imaginary Audience

(3) Personal Fable

(4) Centration

The advance organizer model of
teaching was developed by

(1) Ausubel (2) Bruner

(3) Gagne (4) Piaget

. Which of the following is not an

example of Information Processing

Model of Teaching ?

() Bruﬁcr’s Concept  Attainment
Model ;

(2) Developmental Model of Jean
Piaget

(3) Inquairy Training Model ' of
Suchman

(4) Classroom Meeting Model of
William Glaser.
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In system approach to instruction, the
achievement of instructional objectives
is an example of
(I) Input

(3) Process

(2) Output
(4) Environment

From view point of System’s approach
to  instruction, curriculum  and
instructional materials are example of
(1) Input

(2) Processing

(3) Output

(4) Environmental context

Facial expression is an example of
(1) Verbal communication

(2) Not an example
communication.

Non-verbal communication
Written communication

of

3)
(4)

Which of the following is not correct
about co-operative learning ?

(1) It has several academic benefits.
(2) It has several social benefits.
It does not provide
psychological benefits.

It helps in socializing the child.

any

4

According to Kohlberg’s theory of ;

Moral ~ Development, Adolescents

moral development are mostly at the

level of

(1) Pre-conventional morality

(2) Conventional morality

(3) Post conventional morality

(4) Punishment Obedience
morality

and

As Erik Erikson viewed, ldentity vs.
[dentity contusion often occurs during
(1) Infancy (2) Childhood
(3) (4) Adulthood

Adolescence
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Which of the following is not a
symptom of poor mental health ?

(1) Emotional unstability

(2) Lack of decision making ability
(3) Living in fantasy

(4) Ability to adjust

The first step of personal guidance for

better adjustment of an adolescent is

(1) Collection of all information

(2) Diagnosis of the causes
problem

(3) Rendering personal guidance

(4) Identifying remedial measures

of

Educational ~psychology helps a
teacher to

(1) Know the learner

(2) Arrange learning situation

(3) Solve classroom problems

(4) All options are correct.

A teaching learning material should
not be

(1) Age appropriate

(2) Relevant to the lesson
(3) Attractive
(4) Costly

. Microsoft Word (MS-Word) is an

example of

(1) Hardware

(2) Application Software
(3) System software

(4) No option is correct.

. The concept of Scaffolding is related

to

(1) Piaget’s theory
(2) Vygotsky’s theory
(3) Bruner’s theory
(4) Skinner’s theory
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Which of the following mountain
range is not situated in the north-west
of India ?

(1) Sulaiman (2) Kirthar
(3) Hindukush (4) Patkoi

Where was ‘Dandakarany’ situated in
ancient India ?

(1) Inthe Deccan plateau

(2) Inthe Ganga plain

(3) In the Indus plain

(4) In the foothills of Himalayas

Most of the tools excavated from
‘Bhimbetka’ are made of

(1) Bone (2) Iron

(3) Copper (4) Quartzite

Which one of the following is not
correctly matched ? '
Pre-historic States
sites

(1) Attirampakkam — Tamil Nadu

(2) Nagargunakonda - Andhra

Pradesh
(3) . Hunsagi — Karnataka
(4) Inamgaon — Quyjarat

Prehistoric ‘Ash Mound’ are related to

(1) Place where people were
cremated

(2) Where Vedic sacrifices were
performed

(3) Some of the Neo-lithic sites of
South India

(4) Kilns where the pottery were
backed

Who excavated the Mesolithic site of
Bagor ?
(1) A.L. Ghosh  (2) V.N.Mishra

(3) B.Subbarao  (4) A.R.Kennedy
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- (1) Rakhigarhi

| 122. Match List — | with List — II and select

the correct answer with the help of the
code given below :

List — I List — I
A. Balakot 1. Gujarat
B. Chanhudaro 2. Baluchistan
C. Bhagatrav 3. Punjab
D. Ropar 4. Sindh
Code :

A B C D
(1) 1 2 3 4
2 1 3 2 4
3) 2 4 1 3
4 2 4 3 1

Which material was not used in

making seals in Indus Valley
Civilization ?
(1) Steatite (2) Iron

(3) Silver (4) Calcite

Who said “it seems in fact that the
civilization of Harappa, like those of
Egypt and Mesopotamia  was
theocratic in character” ?

(1) A.L.Basham (2) B.B.Lal
(3) D.D.Kosambi (4) Arnest Mackay

. From which Indus site a model of

signboard has been discovered ?
(2) Banawali

(3) Dholavira (4) Ropar

. In which ‘Mandal’ of Rigveda has the

word “Shudra Varna” is mentioned for
the first time ?
(1) Seventh
(3) Third

(2) Eighth
(4) Tenth

. Which of the following is not a

Terrestrial (Prthvisthana) God ?
(1) Rudra (2) Agni
(3) Soma (4) Brihaspati
m]
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was  the  Founder of
“Vaisheshika” philosophy ?
(1) Gautam (2) Kanada

(3) Kapila (4) Patanjali

Which of the following Brahman text
belongs to ‘Atharvaveda’ ?

(1) Shatapath (2) Aitareya

(3) Gopath (4) Panchvinsh

The painted Grey ware culture is
associated with

(1) Copper age

(2) Stone age

(3) Iron age

(4) Chalcolithic age

Which Mahajanpada was situated near
the Godavari river in south ?

(1) Assaka (Ashmak)

(2) Avanti

(3) Surasena

(4) Kamboja

Arrange the following Mahajanpadas
from East to West according to their
geographical location :

1. Anga

ii. Kosala

1ii. Kashi

iv. Matsya

(1) 1, ii, 111, iv (2) 1, 1ii, 11, 1v
(3) 1, iii, iv, ii (4) ii, 1, v, iil

To whom Bimbisar sent to cure the
King of Avanti ?
(1) Charaka
(2) Sushruta
(3) Jivaka
(4) Ashwini Kumar
06
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134. Against which Mahajanpad, Ajatshtru

1

1

1

1

1

35.

36.

75

38.
39.

used Mahashilakantak and Rathmusala
weapons in the battle ?

(1) Vaisali (2) Anga
(3) Kashi (4) Kosala

Which of the following ‘Mahavrata’
was added by Mahaveer swami ?
(1) Satya (2) Brahmacharya
(3) Ahimsa (4) Asteya

Which of the following statements is
false ?

(1) Buddhism adopted the middle
path.

‘Pratity-Samutpada’ is a principle
of Buddhism
Buddhism  believes
existence of soul

The three jewels of Bhuddhism
are — Buddha, Dhamma, Sangha

()

3) in the

(4)

Who was the founder of ‘Pashupat
Sect’ ?

(1) Lakulisha (2) Mckliputta
(3) Allam Prabhu (4) Basava

Who was the president of second Jain
council (Sabha) of Vallabhi ?

(1) Devarddhigani

(2) Arya Skandil

(3) Bhadrabahu

(4) Sambhuti Vijay

Which Indian  king  defeated
Mohammed Ghori for the first time ?
(1) Prithviraj Chauhan

(2) Jayachand

(3) Vidyadhara Chandela

(4) Moolraj-II
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Which of following composition is not
of Amir Khusrau ?

(1) Qiran-us-Sadain

(2) Miftah-ul-Futuh

(3) Fatwa-i-Jahandari

(4) Nuh Sipihr

Who established ‘Diwan-i-Mustakhraj” ?
(1) Alauddin Khalji

(2) Tltutmish

(3) Feroz Shah Tughlaq

(4) Muhammad bin Tughlaq

According to Afif, ‘In which dynasty
did the maximum development of
‘Vajarat’ take place’ ?

(1) Ilbari Dynasty

(2) Khalji Dynasty

(3) Tughlaq Dynasty

(4) Lodi Dynasty

Which of the following pairs is not
correctly matched ?

(1) Iltutmish - Sultangarhi

(2) Balban - Jmayt Khana Masjid

(3) Alauddin — Hazar-Situn-Mahal
Khilji

(4) Junashah — Tomb of Khan-i-

Jahan Tilangani

Match List — I with List — II and select
the correct answer with the help of the
codes given below :

List -1 List — 11
A. Bakhtiyar kaki 1. Qadiriya
B. Jalaluddin 2. Chisti
Tabrizi
C. Shah 3. Suhrawardi
Niyamatullah
D. Khwaja Baqi 4. Nagshbandi
Billah
Code :
A B C D
(M 1 2 3 4
2) 2 1 3 4
3) 4 3 2 1
4) 2 3 1 4
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- Which saint is

‘ - related to
Dvaltadvaitavad’ ?

(1) Ramanujacharya
(2) Nimbarka

(3) Madhvacharya

(4) Vishnu Swam;

Whlc!l of following is mainly
associated with ‘Adigranth’ ?

(1) Kabir (2) Ramanand
(3) Guru Nanak (4) Raidas

Which Sufi saint said ‘Hunooz Dilli
Door Ast’ 2

(1) Nizamuddin Auliya
(2) Baba Farid
(3) Moinuddin Chistj
(4) Salim Chisti

In  the Bhakti tradition who
popularized ‘Kirtans’ ?

(1) Tukaram (2) Surdas

(3) Chaitanya (4) Namdev

Who among the following . was
ascended on the throne without the
help of Sayyid Brothers ?

(1) Jahandar Shah

(2) Rafi-ud-Daulah

(3) Farrukhsiyar

(4) Muhammad Shah

Match the following and select the
correct answer given below :
State Ruler

A. Hyderabad 1. Murshid Quli
Khan

B. Awadh 2. Hyder Ali

C. Bengal 3. Nizam-ul-Mulk
Asaf Jahan

D. Mysore 4. Saadat Ali
Khan

Code :

(1
(2)
3)
4)

—— NN O
(SRR N
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W e WHRD
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